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Profit, Loss & Discount
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7. A shopkeeper bought locks at the rate of 7. U® gHIHGY 4343 HS B R A 3] ara
8 locks for Rs. 34 and sold them at the Uﬁ%ﬁﬁﬂﬂﬂﬂgﬁﬁﬁ?ﬂﬁml
rate of 12 locks for Rs. 57. Calculate his MWuﬁmaﬁmaﬂﬁm

gainpercent.<?b] ! K L\ ‘5\7 —1—7- L(M/& ll)

—)0)_ a. 933% <\

b. 11.11% ii? Il cp 53 = B 11.11%
c. 11.76% ¥ 7 %Te) 11.76%

d. None of these ~ / / % . None of these
7‘/ 2
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8. A shopkeeper purchases two radio sets for g, U® gPHMIR 21 YEa A, uds 1000 Fﬂﬁ |

Rs. 1000 each. He sells the first radio at E’,ﬁan a8 UBHT ISal 10% a1 R ahzgwn
10% profit and second one at 10% loss. 10% BT U a941 21 IIADT $d ATH 1 mﬁ
Find his overall profit or loss perce.nt. g_ ? uﬁma eraaﬂ‘hﬁl

| N P e

a. 1% profit a. 1% Yy
b. 1% loss (Dm\L .y b 1%EI

& Neither loss nor gam \ﬁ‘em{ A e
d. Can’tsay 2100 ) 2 m’\) d. mqﬁmm?

MR o
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9. A shopkeeper sells two ﬁ; Sets for Rs. 9. U® PR &l ¢Idl A AP 12000 U &
12000 each. He sells one at a profit of '?.l d8 U &l 20% %mw Gﬁ?w

20% and the other at a loss of 20%. Find ® 20% DI g W agaT g1 R d4-a4 #
his profit or loss percent in the whole ST @Y 1 g1 wfarra yrad Siferg|

transaction.q = Renx]w 5P - |lm .+>D~/

:—Iocm
a. 4% gain & S P = a.4% °TH
_bc 4% loss q = {21’\\6*/\0\)\., lm\n%m
c. Neither gain nor loss ) F )‘(7c TFaray AR T A
d. None of these /Sb"\) d.'ﬁ"ﬁ'\qﬁ'{?ﬁ
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10. A shopkeeper sells two TV sets for Rs. 10 U®% g@HMSR g dt A< W 12000 ¥94 H
12000 each. He sells one at a profit of E}_ﬁﬂ@ﬂﬁ@%%ﬂﬂ{ﬂ&ﬁ?ﬂﬁ
20% and the other at a loss of 10%. Find 10% B! 1 W 3T g1 R A-¢4 H IWDI

his profit or loss percent ig the_whole G EIFAIC R IGEGEIG) |
transactiong; 360{.’-—(_—9’ P (3 6o -+ Do P g

RN ) Ao ?10

a. 8%gain ¢ (3  a.8% WY v X e
b. 8% loss (’f L36oxb @ Ito;,/a%mﬁ J- o
%-85% gwn = Ve, ) o \_§¢2.85% TTH =3-¢ g\%

d. None of these—_~ d. 399 | BIS 81
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11. The cost price of 50 mangoes is equal to 11. 50 arm’fmmqm 40 arm‘fifﬁwm[azir
the selling price of 40 mangoes. Find the IR 8| 1Y wfawra 3 Siford

profit percent.

a. 20% a.20%
b 25% b 25%

c. 15% c. 15%

d. None of these d. ﬁﬁ | U’l‘f ?ﬁ
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12. A shopkeeper claims that he sells his 12, T®% GHMFQR H1 @l ¢ & gg =T 9mE
goods at cost price but he cheats in weight  FNTd Heq WX d9dT ¢ Afb= a8 aoi= & 10% P

by 10%. Find his actual profit percent. KJ? ﬂ‘f&ﬁl’ﬁ Sl ?T SHPT zrmﬁas T ﬂﬁﬂfa

\}./11.11 @
b. 22.22% b. 22.22%

c. 10% f/\ A)()c—\) c. 10%
d. Can'tsay 7 d. BT e 1 FPpa

g////?/
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13. A shopkeeper claims that he sells his 13. U® I®MeR P /@1 ¢ & g U= WWH
goods at cost price but he cheats in W Nd Yo W d°dl & Afbd a8 Juad SR

weight by 10% while selling and  WISd YWY To | 10% B! HETUIT HaT 2|
A ary wiaera 3ra e

percent. ~ | ‘ .
@/C’Q@ XN & - X190
a. “11.11% a. 1.11% 7%\
J/ 22.22% U __b22.22% <%+ % /
c. 10% . . .

purchasing both. Find his actual profit

c. 10%
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14. A shopkeeper claims that he sells his 14.wmmmtﬁsag HYET HTHE 10%
goods at 10% profit but he also cheats in mwmgﬂﬁmnmﬂ 20% aﬁ
weight by 20%. Find his actual profit \ ( ffEmudt Tl 21 IEPT ARAAE ™

Percent.l(/\)' @ : “D@wmyﬂm| iy

\/ a.3(5%

b. 30% / b. 30%
. 215% 3D X1 e215%
d. None ofth ; ?Yo d. =78 @ B 78




